BERYCTIVRE

SEROEEFC
At 1,075,989 H
EREC )
ELEC )
3 (i BE B BZ
A BAXTS5
FIETSY 498,690 1 498,690 HEXBIMHESTEETIENTEET
BHERBEESENNEETET
EBMRSATAR 9,500 2 19,000 (2[E]14%
ARIES 15,000 1 15,000 |BRHBL -#HBEEYyTF4
BM7F 48— 15,000 1 15,000 |RKIBRERFRY
A EETSUBBIR N 547,690
B |iR#L& 2,500 100 250,000 |/BE #%AREHEDLHE
XERLEDDBEKRITAEVET
B iRtL&EE{R /NE 250,000
C | BONAY 840 30 25,200 BE&
ZHIWA—RFIL (302E%5) 94,500 1 94,500 | & HiikL\
KEZRET -8 15,000 1 15,000 |11 K ZEI5(1CT
SEREF-8Y 15,000 1 15,000 ¥ SEEICT
EREERY 2,100 1 2,100 {FEHRIESH
EREMET 500 1 500 |{EE&HkIEEH
C B ERIR /M5t 152,300
A+B+C 949,990
HEB 75,999
A+B+C+HEES Nt @ 1,025,989
D |kZEHS 40,000 1 40,000 |xHstEle xkATESFI A
KREFER 10,000 1 10,000 | %44 xkEHEEFIA
D kZE#lE Nt @ 50,000
@+@) &t 1,075,989
[ #]

RALBOCHEBIEL - ARSI TRENEH T HIGEDHYEY
KEHE RBYBENOHLIIREICLHVEY

[ kZEEHL(CDIVT]

IBEALE] - - - SR OkF -BE» - LR M) X—E#EBEH
|B4EAT - - - BREAXETAHE (BEHCLREEEICRS)

BES#H- - - ERTAHE (EEFSCRD)




